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Which of the following is the ichemical nature of | &

The Muppandal-Perungudi area of Tamil Nadu is

known for :
(a) Hydro power (b) Wind power
(c) Atomic power (d olar power

The correct order of mountain ranges from South to
North is : ;o

P Panjal, Ladakh, Zaskar, Rarak
Zaskar, Pir Panjal, Ladakh; Karakoram
Karakoram, Zaskar, Pir Panjal, Ladakh

(b)
©
(d)

In which state of India are the largest monazite
deposits found ?

(a) Karnataka (b) Odisha
© il

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : Deccan trap j§ :deficient in ground
water. -.,, J

Reason (R) : Deccan trap has mbre than 1000 metre
thick impenetrable basalt rock_c_gyer

Select the correct answer from the podes given below :
(@) (A)is true, but (R) is false)

(b) (A)is false, but (R) is true.

(c) Both (A) and (R) are true and (R) is the correct

explanation of (A).

(d) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

Which of the following protozoa is known as the
“Grand old man of Intestine” 2~
(a) Diffusia

(b) TRadiolaria  EFE
@ Arcella c

enzymes ?
a) Protemn (b) Vitamin
(c) Lipid (d) Carbohydrate

Which of the following coal producing area is not
located in Chhattisgarh ?

(&) Thilimili
() Somhat 0 Chetimiri

_ AROM-01
aﬁmmgmsamaﬁﬁm%%qm%?

(c) T FHSA (d)

mmq@mmmawﬂmw 1

(c) T, I USITel, @, HUHI
(d) FHRA, SR, TR U, Te

T ¥ - T & aftmw A & PA T |

SRE?
(a) FAIZH (b) aﬁ%&m

A3 Ao e g, ﬁaﬁ%@aﬁa&rﬁmm)w - 4

A I FHR (R) FET AL |
ARHUT (A) : T 20 YforTa e svem R R
HROT (R) : T 29 & ST 1000 Hiex F 31Rmes Fiet

YT FTeE TZHT I T R |
Fﬁ%ﬁQW@ﬁHﬁmﬁﬁQ:

@ (AT RFRER T
(b) (A)Tes, g (R) AR

()

(A)W(R)Eﬁﬂ%’f%aﬂt(m, (A) & wdt

d (A)W(R)aﬁaé’r%, g R), (A) F¥ &

AT g T g |

frafafed & & S WeseT <offd @ o 95

AHE” FETSAE 2
a ISR (b) eImitar
[ (c) formiean | (d) e

Frefie # & F-et Gt <6t T v ak
72

| () IRH | (b) Tt

(c) Teride () (d) TETEESE ()
Frafafaa § @ SH-ar S 3T 85 oo §
T 72 & 2 |

(@) Fofafeh

(c) HrEe (d) TR

.-!
B
-

- B

i

P O B 2 W T e TSN o R P TR A T O

)




AROM-01
8.  Who invited Mahatma Gandhi to Champaran|g ey e it St & graey o =qwor  werem e 37
regarding the Indigo cultivation ? e R ar 2
[® Rajkumar Shukla ) @) ToAn e |
(b) Motilal Nehru ~ (b) Wi AEE
(c) JB.Kripalani (c) Sl Hoer
(d) Rajendra Prasad (d) TH=EvERE
9.  Which King’s title was ‘The man with burnt legs’ ? 0. ‘gmﬁzﬁmﬁn@m’ T T <7 T o 0
(2) Nedul Jeral (b) Duttagamani (@) o (b) gEmHT

|(c) Kan’kalani'_ (d) Nalangiri 9] %\aaqj L(d)  ATef

10. Match List-I with List-II and choose the correct 10. @-Iﬁ@-ﬂﬁﬁﬁ%ﬂﬁﬁﬁﬁ@ﬁ%ﬁﬁﬁ‘

answer from the codes given below the lists : T T R I ﬂﬁq :
List-I List-IT st s wilk
- (Inscription) . Ruer). & E-I% ) i & -li
'A. Hathigumpha Inscription = 1. Kharaveld, : L
, AoRe _ A. Erefer ST 1. Trad
B. Mandsaur Inscription 2. Puluvami .
C. Aihole Inscription 3. Pulakeshin IT B. Hed e 2. P
D. Nasik Cave Inscription 4. Yashodharman C. @ e 3. QIEIQSIQI T ol
Codes : ! D. i TerE 4. FEEET
A B C D T
@ 1 4 3 Doy
® 4 3 2 1 L e S 2
© 3 2 4 1 By & &, 2]
@ 2 3 4 1 @ 3 .2 49
@ 2 3 4.1

11.  Article 17 of the Indian Constitution is related to :
(a) Equality before Law ’
(b) Freedom of Press %ﬁ

11. waﬁw‘r%mmag%fn wrafea t
(a) Tarfer < ome wu=ar

(c) End of Titles ' ®) ﬁ'ﬂ'@'@?ﬁﬁﬁ
- SRl
12.  Which one of the following is correctly matched ? WW
(Painter) (Ruler) 12. TefafaadasE-ar o gﬁﬁlﬁ'% ?
(a) Fakirulllh — Shahjahalll () "
(b) Basawan - Aurangzei) : ; ‘ : .
(c) Manohar - Akbar ?:)) Eﬁ(ﬁq _ M
(d) Daswant —  Jahangir @ EE _ s
13. Khond Movement (1846 — 55) was triggered due to 13. WiT I=ee (1846 — 55) Torfesr v gro st
the 1.3-(-itish Government’s forceful abolition of which =1 Rrg TRTES T Hﬁqjﬂi TITT T % RO ™=
traditional practice of tribes ? T2
(a) Animal Sacrifice (b) Infant Sacrifice (®) ﬁ’fﬁ e
(¢) Human Sacrifice | (d) None of the above (@ :-rqﬁaﬂﬁ%aﬁéqiﬁ




14.

In which Articles of the Constitution of India have
the provisions related to the electoral process of the
country been made ? :

(a) Articles 334 to 339

(b) Articles 329 to 344

(c) Articles 324 to 329

15.

16.

17.

18.

(d) Articles 333 to 334

In which year did the Tndian industrialist Ratan Tata,
who expired in the year 2024, receive the “Padma
Vibhushan Award” ?

(a) 2012 (b) 2014

What is the minimum educational qualification for
“Uttar Pradesh Mukhyamantri Yuva Udyami Vikas
Abhiyan Yojana” launched in 2024 ?

(a) Class 101 (b) Class 12

(c) Class 5t +](d)_Class 8"

Which country honoured the Prime Minister of India
with “The Order of Excellence” in 2024 ?
i+ (b) Egypt

(d) France

(a) Russia

The Indian government had launched a rescue
operation in Ukraine to evacuate its stranded citizens.
This operation was known as :
(a) Operation Kaveri

(b) Operation Bucharest

(c) Operation Devi Shakti

(d) Operation Ganga

19.

Which of the followirlé 1s not correctly matched ?
(a) Article 156 —- Term of the Governor

(b) Article 154 - Execuﬁve authority of the

i 'gmor
c) Article 155 — Removal of the Governor

20.

(d) Article 153 - Office of the Governor

Who among the following had the longest tenure as
the Chief Justice of Supreme Court of independent
India ?

(2) Ranganath Mishra

(b) K.G. Balakrishnan

(c) Sabyasachi Mukherjee

G Chandrachud

15.

16.
17.

18.

19.
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W ¥ Gfee o foeT arg=adt & aw ot atem wfsean
¥ grfug yea fFemeE?

(a) DT 334¥339

Tt Seater e e, e e o 2024 # gom,
= “qgw fanpyor v for o fear wman 2
(a) 2012 (b) 2014

“2024 ﬁwﬁﬁmmg@ﬁwmﬁq
SR AT 3 fore =ew e dar F e ?

(a) HET10 (b) HET12

2024 ¥ WRA F TUEA I FRE 2W 7 5 AT IATE
e & grTa o ?
=

(a) & o) T Ehe)
(d)

T TR T T T S T F A% G WA

iRt S aTaE o o forg, foRe e ST & A

T@n e ?

(a) SATITH T

(b) TR AR

(c) 3iEm 3t wfe

Frerferfga f & SiF-ar wd gafea 78 © 2
(a) DT 156 — TSI Hl &

(b) DT 154 — TSI H HRIBR EHR

(@) RIS - TS HE

e & § e wia # wated AREE % ST
=TSt T GE T eI (ST @ 7

(a) T fo

(b) . TAHH
(c) TeagrEgEs]
(d) =R F5E |




AROM-01

21.  Which of the following acids can melt gold ? 21, frafaRed 3§ & S ove 9 o er S 2
(@ Hydrochloric Acid - . (@) wEgRERE YR

_®)

) Nitric Acid_

@ Sulphuric Acid

22. Match List] with List-Il and choose the correct 2. @Iﬁﬁngmmﬁ@ﬁ%ﬁﬁq

answer from the codes given below the Hists : ﬂq@wﬁiﬁ'ﬁmﬁ%ﬁt%ﬁq
List-I .  ListdI - -1 arJ:' TEht-11
(Macromolecule) - (Examples) T&E&Y 1y (33TET)
A. DNA _ 1. Energy Storage A a"rqm T 1. S s
B. Phospholipid 2. Cell Membranes B. S, 2. i et
C. “Cellulose 3. Encode genes C. ﬁg@v 3. ST St
D. Starch 4. Cell Walls D. =& 4. TRE ARy
®e :

58

@ 4 gﬁ 1 2
23. Given i:elow are two statements, one is labelled as 23, ﬂ%ﬁmfﬁ“-‘rﬁ% ﬁﬁﬁ@aﬁaﬁmww

Assertion (A) and the other as Reason (R). = j‘ﬁ?"ﬁﬁ%l _

haAsserbove ]ern (A) : Earth is the only planet known to @m ( A);{MWHR%WW% I
Reason (R) : Earth has an atmosphere which is a W(R) “ﬁ*“@%ﬁ“%“ﬁm
mixture of oxygen, nitrogen and carbon dioxide. RIS G ST STge1ereTSe il T & |

Select the correct answer from the codes given below : a%%ﬁqnqaﬁﬁaﬁsﬂt‘g;ﬁq

(@ (A)is true, but (R) is false. @ ()W E, R @R

(®) (A)is false, but (R) is true. (®) (A)TeEE, ﬁ?g’(R)H%‘T%I

(c) Botll:u(l?) and ('R) are true and (R) is the correct (©) (A) W (R) sFF &g % 3T ®), (A) eﬁ &

24, Onthc‘WorldHeart celebrated ev: === - 9
g = 24. %ﬂmﬁﬁfgﬁma&mﬁrﬁrﬁmm%o

year ?
(@ 29&‘ September (13) ;- Moet @ 29%3@»
© 26%September [[(@) 28" | © 26 R

mEgEmsamoeToy _. S

25. The first Bullet train in India, which is to run between |25. T <Y Teeft qo¥e 37 < Wﬁm%aﬁam

Ahmedabad and Mumbai is being prepared with the %ﬁw&-ﬁaﬁ%mmwﬁm%%meﬁm
help of which one of the following countries ?
e =r_-‘2-1.‘ R

"(b) United States of America
(c) France

(d) England

:&5-.-“.--




27.

28.

29,

30.

31.

32,

AT IS WA ;
(2) foar
(© "
Mﬂlﬁffﬁ@l%:

ﬁnﬁrﬁaaﬁ&ﬂ?mwm%?

(2) EEWIWE HEETAAEE |

.(b) mwwwmﬁﬂ

@ gqaa%fmr%ihv @’5 '

W IR B T 5501 W& Ireir a@mmﬁ%mm
ISR
(@) e
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38.

39, @rer IR
4.

41.

42,

43.

45.




- 51.  Ethanol can be blended with wh:ch of the following

fl' _l-:‘l.4|

(b) Edibleoils
(d) Biodiesel

(c) ' &se_l

52.  Which gas is used as fire extinguisher ?
() Nitrogen
(b) Methane

@ Oxygen o
53, . As per the Disaster Management Act, 2005, the

National Disaster Management Authority (NDMA) is
: bythe ____.

i

(c) Home Minister
(d) Environment Minister

54. The point of the Earth’s surface directly above the
* point where an earthquake occurs is called :

.(a) Fracture (b) Fault

() Focus

SS.  Glacial Lake Outburst Flood (GLOF) belongs to
which family of natural hazards ?
() Geophysical (b) _Hydrological
(c) Meteorological {(d) Clir al |

56. Tsunami warning centre in India is located at :

(a) Ahmedabad (b)
(c) Kolkata Hyd
57. Which of the followmg isa geologlcal disaster ?
(a) Flood - (b) Wild fire _
+ i |l (d) Storm surge

58. Which energy is developed by gravitational pull of
the Sun and the Moon on | the Earth ?
(2) Thermal energy [[(b) Tldal ener ]} )

(c) Solarenergy "“’ energy

59.  The horsepower per ton of refrigeration is expressed
as: - - '

AROM-01

51. wﬁﬁm%m@maﬁrﬁmﬁﬁaﬁ%m
_ar TP o s wemaT R 2
: (b) TA-AT I

i _ (d) S
52, e 9 % o e e o s R ¢

& ,
53.  IMET SR SRR, 2005 F IR,

TSR 31T
memamm)aﬁrma __ ®mrgl
© wER B
(@) wRIfeRor o ﬁ

54, wﬁmwaaﬁz%aﬁwwmm%
AR L _ ,
@ SR
© rﬁwfj; L@ uwie i) |
s5. ﬁnﬁ?ﬁﬁ?ﬁvﬁz%maﬁa@waﬁﬁm
C mﬁm@aﬁ%maﬁ%w&a

Y = o e 2

cop
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60. In fluid energy mill, most of the reduction is caused
by : '
(a) Impact
(b) Cutting
(d) Compression 16y
: T
61. Consider the following statemeﬂi;’;"l:
I Sedimentation is condﬁctégﬁou a large scale in
thickeners. [
II.  Sorting classification sepé'ié;%:es the particles of
differing densities.
Select the correct answer from the following :
(b) Neither I nor IT is true.
(c) OnlyIis true.
(d) Only ITis true.
_ ' L)
62.  The pitch of a standard screw conveyor is equal to its
e A
(8) Perimeter .
(b) Halfof the perimeter | 7,
c) Radius
63. Match ListI (Name of Disease) with List-Il

(Causative Agent) and choose the correct answer
from the codes given below the lists :

List-I _ List-IT
(Name of Disease) ‘ :T—“(Causative Agent)
A.  Blue baby syndrome 1, ;Chromates
B, Iui-Haidisease 2 g
C. Minamata disease 3;‘?f_§c.:1
D. Lung cancer 4 | -}'Jitrate
Codes :

60.

61.

62.

.AROM-01
T (F9) S e , afrpier w2t frad FRor St
27
(a) HEm@
()

(d) wHdteT

Frferiea ot ot forem fifsr -
L o2 M W 3rEdeT R d frarsmar 2

L Sfferor i, STETT-2eHT SFc o huit = wiear
gl :

freferfea & & vt s ST AR ;-

a) 13X OIATEEE|

(b) TAITHITRR]
(c) Fa=IwEIRI
(d) waa HTEE)

mmq#&ma‘%ﬁim F T
GG

(a) wRRer _
(b) ufeRer = e
©

L (B ) B (e ) & g
ST 3T et 3 i) g 1Y e ot ST o Wt S

- -1

(T %1 1) (R Teie)
A. SR Rigm 1. |
B. SAR-3q15 U7 2. Hg
C. e T 3. Cd .
D. F%E & 4. TR
e :

B C D

A
@ 1 3 2 4




E:
.AROM-01
64.  The curing of concrete is the process of ; 64. I T qRTEEar iR R

(a) Plastering the concrete surface (a) hie it TTE T eIl S ol

(b) Applying distemper paint on its surface 3O UaE W S W Yz e &t

(d) Filling the materials in the left out depressions (d)

= i el S % forg o< g Tgel
to make its surface smooth HTIT ST
65. Which of the following metals has the lowest s freaffas § & g E@gﬁr AT SRR T T
temperature coefficient of resistance ? FqE9? - :
@ Silver — PRzl

(c) Copper (d) Aluminium () s ~d)
66. Mild steel belongs to the category of :

(a) medium carbon steel (a) AW e 35T o
(b) high carbon steel _ _ (b) == FEA T =
(c) mo carbon steel (c) IS FTe TEUTT &l

67. Which of these is not a function of alloy steels ?
Y 67. H & HiA-aT firsy o ST T AR R 2

(a) Increases strength
(b) Reduces cost @) Aot &

c) Improves ductility
(d) Improves machinability

66. ﬁmm%ﬂﬁﬁm%‘?

:

( garramm
(d)  wrefifemcor & g s &

68. The constant of proportionality between elongation

and axial force given by Hooke’s Lawis . 68. T & fraw W fu TTQﬁ'RHT 3R 7 o & e
(a) Yield point AR A ReE R
(c) Ultimate strength [0 Y CUKIRICT
(d) Elastic limit (c) wume
(d) SITEy T

69.  The front view, side view and top view of a cylinder
standing on horizontal plane based on horizontal |69,  &fire Ter T ITURT T T2 foeiet S &7 3w, ard

Planeis: gﬂaﬁ(wwﬁﬂ': Ve
(a) rectangle, circle and rectangle (2) ¥, 9w -
(b) circle, triangle and triangle ®) 7 B o ﬁgﬁr

c) circle, rectangle and rectangle ¢) I, 3T 3T A
(d) rectangle, rectangle and circle | (d) =T, 379a Eil |
70. Which of the following is mot a property of 70, Trefafed § & e SRR ameE @ o 7

engineering materials ? 29

(a) Polymorphism pro rtie =\
S s
(b) Electrical properties Ol

ey o <o
(d) TR oT



71.

72.

73.

74.

75.

76.

77.

Yield of a reservoir represents :

(a) The outflow demand on the reservoir

(b) The inflow into the geservoir

(c) The capacity of t]:(;e_;;:ieservoir

(d) None of the above
: 33

A level crossing type of cross drainage work consists
of : LN

(a) one weir and two regulators

(b) two weirs and two regulators

(c) one regulator only

(d) two weirs only

The amount of energy carried by a photon is

inversely proportional t?
(a) Amplitude “+(b) Albedo

(c) Speed f;,‘(d) Wavelength i

A dummy activity is Eufsed in ‘PERT’ network to

describe : '
@4
Eﬁ

(a) Resource restriction

(b) Resource idleness

' (c) Precedence relationship

(d

The term “triple constraint” in project management
traditionally consists of of the project.

() time, cost and scope

(b) quality, risk and rés"purces

Necessary time delay

%

(c) cost, scope and quahty
(d) risk, resources and time
The ratio of rainfall in a particular year to the average
annual rainfall (AAR) is called the
(a) Index of average rainfall
(b) Index of yearly rainfall
(c) Index of wetness
“(d) Index of drought

Unit of duty of crop is : R L
(a) m/ha
(c) cm/sec (d) halem

71.

72.

73.

74.

75.

76.

TI.
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T ST i 30 FrEfa FEt R
(a) ST T Sfedig HiTT

(b) VIR A STl YIS

(c) TeTTIT Sl &war

@ SHEFAATETE

T e T S F A 2w fe i
R
(a) T R 3R A e

(b) o ferm SR 31 e

(c) 99T Fams

(d) FaararfEm

T WIEH E & AT T Sl ol A &

RIS € |

(@) @mE™ b) el

© @ wer] A
Uit % % fT ‘PERT’ Feah § & SHI

fefaf s s R ST |

(a) THTEH iee

(b) TETE ST

i YeoeT & <Ruer smare wee § uiuis §9 &

TREHT i |

(b) TUTE, SHREH I EETE

(c) AT, FTHE S U

(d) ifiaw, TaTe S aeT

Tt sy o & 3wt = afteq arfies ol (TuaTm) &
FqUE_ wEemrel

(a) 3TrHq @l o GEHIH

b) AT INT T GEhish
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78. As per CPCB guidelines, for the AQI range of|78. g, & RenfEE % SEER, 201 — 300 A&
201 — 300, the air quality will be : g . o1 3 fore g Tporere &
@) Severe @®) i
(c) Excellent (d) Good (c) IFE (@ =T
79. Phenology is the study of the relationship between |79  Yreflt STerag i sl ¥ g gat
climate and periodic 2 SR -
a) Spatial phenomenon L)
(c) Physical phenomenon
(d) Chemical phenomenon
80. What is the effect of the greenhouse gases on the
Earth’s atmosphere ? 80. WWWW*W“WWW% ?
(a) They block all solar radiation. (a) gt g Fafero st el € 1
(b) They increase oxygen levels. (b) ¥ rEfsH FEUH TR T
(c) They cool down the Earth. (c) ﬁqﬁ’lﬁwaﬂﬁ%l

T

8l. The National Action Plan on Climate Change|gj, mwﬁﬁﬁ;ﬂ@ﬂmﬁ RT |

was launched by the Government of India in 2008 o9 a7 aﬁm 23% q TEER 3-7(3[ 3
with a target to increase forest area from presently W%mﬂ'&?ﬁ?ﬁl

23%to e iy

(@ 40% (B) 45% (& 4% Tt _ih) 43%

st :
0, 1 =
© 25% @ 2% in

82, Tl S Al § I=7 Il T S HA 5 :

82. Which of battery is commonly used in modern y
e i Y FTOT e ST Bt St ST TR T S9ET foRT ST

electric vehicles due to its high energy density and

efficiency ? _ 27
(b) Lead acid ) Sl
() Alkaline (c) &R
(d) Microbial fuel cell (d) mﬁﬁﬂﬁ?ﬂﬁa
83. The capacity of the handling/conveying equipment Py
should the capacity of processing unit or 83. Tsfom/vEeT W 6 gt SRR SRS AT SRl
units. - i &rar __;_’_WHT%E I
(2) Be lower than B
(b) Be different from

(d) Be higher than

84. Which of the following is not a of belt conveyor ? | g4 - reRRe 1§ ST e SR H TER TR S ?

() Telescopic @ e
(c) Flat (d) Metallic i
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85. The Sun subtends an angle of minutes on | 85, - aﬁgﬁﬁﬁ ag | s s @]
the Earth surface. (a) 42 ®) 52

(a) 42 (b) 52 (c) 22 m

© 2 |
86.  STRITHTE T Tefieheo fome SepR At afterd afshan @ 2

86. Gasification of biomass is which type of conversion =
process ? Ta! (a) S ' ;
(© wmER®m (0 SR

() Biological

(c) Chemical { g(gi) Biochemical : ' 7
i 87. T o o St 1w o 35w il St @
87.. The following type of energy is stored as latent heat :
(a) Thermal Energy} L5 _
(b) Electrica] Energy , (©) Tt
(c) Chemical Energy @ @it -

(d) Mechanical Energy .
88. The longest day and longest night dates are 88. o vt o o e el T et AT S

respectively : (@ 21521 AT

(8) 21° June; 215 March (b) 21 foam; 21 feEmR

(b) 215 September: 213§§ecmber (¢) 21 eI 21 A
: (d) 21321 ﬁaﬁn

(¢) 2158 tember;ZlSFKéarch -
‘(d) 21% June; 21% Decemf“' ber l
— : 89. T & Sl Seare o g -elt wfsre SweTh E 2

89. Which process is resporis?i_ﬁle for the production of ) FEdT TR sl
energy in the Sun ? - ' '

(a) Exothermal chemical reaction
(b) Nuclear fission reaction

¢) Nuclear fusion reaction &
(d) None of the above 90,

90. A barometer measures :
(b) Differential pressufg‘
(c) Gaugepressure (d) ST G iz T

(d) None of the abovecf
- 91. a@ﬁqwu@aﬂnﬂaaﬁ%

91. The main combustible coj'ﬁponent of biogas is : (b) e SEATTEES

_ (b) Carbon dioxide @ B
(c) Butane (d) Ethane
- U _ 92, W fAFeRToT SaTE Al SR TR SHERT TR § HIT S
92.  Solar radiation flux is usually measured with the help 3.

Anemomerer (B TS

(¢) Sunshine recorder (c) ¥ = fmist
(d) None of the above () Wﬂ?ﬁﬁﬁﬁﬁﬂﬁ
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93. If a plane is inclined to both the reference planes, 93. IR © uuaw ST wed aet Y R T v L At
then the plane is called : o % »

IS T FET AR :
(a) perpendicular plane ) e
(b) cross plane @ .

(b) =M

(c) auxiliary plane

(0 weEmT
‘

94.  The curve traced out by the end of a piece of thread et
unwound from a circle or a polygon, the thread being | 94 %@ﬁaﬁmmﬂﬁﬁ T o U Z%s & R, o

kept tight, is termed as ) aﬁmmmwaﬁaﬁ FETIAETE |
(a) Archimedean Spiral (a) am%&ﬁa‘twsm

(b) Logarithmic Spiral (b)) TR TS

(c) Evolute "' © e E;

95.  The difference between the 1 primary scale division 05, affaT S Ui Srer 1 Rl st s S

of the vernier and the 1 (one) vernier scale division is .
termedvas Commepee | fefiem & e & et FETER|

(a) Error quotient of the vernier scale (a) WW Ll 3& HATH
(b) Correction factor of the vernier scale

Least count of vernier scal

(d) Zero point on the vernier scale | (@ aﬁm%‘.}m‘:ﬁqﬁz

96. In third angle projection, the object is kept in : %. ?ﬂ@:?ﬁw%m #, a5 SR

Na) 3" quadrant

(b) 4th quadrant
- =T =gt
(c) 1% quadrant ®)
@ 2™ quadrant () T
(@ TE gt

97. What is the purpose of a sectional view in 97, 3 o i 7
engineering drawing ? : mw Wwﬂﬁﬂwm%
(@) %&ﬁaﬁ'ﬁmmﬁmmi
(b) %@aﬁwmmmml

(a) To represent an object in a simplified form.
(b) To provide a perspective view of an object.

(c)

To display the external features of an object.

lo ﬁ?ﬁﬂ@rmmaﬁmﬁwﬁ@m!

To show the internal details of an object by
cutting through it.

98, aaa‘m#gﬁa"r.ﬂ.%&iwﬁﬁ%,a‘r .
98. When the axis of solid is perpendicular to V.P., the S99 TEel ST ST TR 3R T s
view should be drawn first and waifre R ST TR

view then projected from it.
(@) side, front (b) top, front @) , (®) ¥, T
I(c) front, top ' (d) top, side ' (d) =i, ard




s
99. Rate of evaporatibn is inversely proportional to :
(b) wind speed
()
(d)

surface area °
temperature
£

exchange of mass with the:strroundings.

100. Inaclosed system, there is :
@ _

(b) exchange of mass ancfff;energy with the

- surroundings. T

no exchﬁnge of energy of the system.

()
(d)

not the mass.

- 101.

Work done is zero in constant

process.
(a) Both pressure and volume

(b) Temperature
(c) Pressure 4

(d) Volume ‘T

102. A unit hydrograph has one unit of:!

(b) the time base of direct runoff
(c) peak discharge
(d) rainfall duration

103. Which parameter remains constant during a

reversible isothermal process ?

(a) Enthalpy _;'
(b) Entropy l
(c) Rate of heat exchange ol

(d) Internal energy | G2

104. In India, the tropical cyclones occur in the months of

&

exchange of energy with the surroundings andj .

AROM-01

99,  FTSHIEHUr ST ST SCHATHITT BT 2
(@) smdas |

(b) TSHTAF
() T &Rt
(d) ‘amn%

100. HIATAH, :

(a) FoIuE 1 Ui & ary fafrr @ g

(b) FH SRS wraiEn Hay At A £
(c) TAF TS HIDE AT TH STl
(d) ZIHH &I dfceh RSN o T SHell T

101, o e e F R s o g e & 2
(a) TTE 3R ARG SHT
(b) AT
(c) T

102. T TS ETSSITG H U SHS SN 8 :
(b) I SIS HT T TR
(c) = foeeor (vam)
(d) =i emEfy

d

103, SR gEaTdt afsmer & Hi-or e R war e
(@) Tt
(b) T
(c) o fafmrs
(d) TR et

104, WRA ¥, SRS S H R A A
gl
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105. Quality controlisa:
(a) Management tool
(b) Marketing tool
(c) Process-oriented approach

(d) Product-oriented approach

106. The probability law that determines the fluctuations
of fraction defective is :

(a) Binomial
(b) Exponential
(c) Poisson

(d) Normal

107. ISO is only the certification of :
(a) HACCP Certification
(b) Environmental Management
(c) Product Certification
(d) Quality Management System

108. AIDS is caused by
(a) Fungus
(b) DNA Virus

Bl

E

(d) Bacteria

109. Risk analysis does mof comprise which one of the
following components ?
(a) Risk communication
[ (b) Risk harassment_J
(c) Risk identification
(d) Risk assessment

110. ISO-22000 is a derivative of :
I.  ISO-14001

II. HACCP

. TOM

Iv. IS0-9000

Select the correct answer from the options given
below :

(8) BothIand IV
(c) Omlyl
(d) BothII and III

.AROM-01

106, TR i, < rageh T 3 Sawsgr = frefa
- m%,aa%: L

(b) T

NONR

(d) HE=

<)

TS T, 37, T TR S :

107.

109. Sfew fvemor § frefafaa & & ®F-91 & 9H
it TE 2
(a) IREH HER
() -
() few e |-

110. 1S0-22000 foresT =18 ?
L ISO-14001
. TETEE.
m. &R
IV. ISO-9000
o R g et & W SR :
(@) 13 IVIHS




E.l‘
111. Results based on incomplete or prejudiced data,
produced by Al tools, are signified as :

(a) Robotics (b) Albias

(c) Al fairness (d) Deep fake

112. What is Machine Learning used in Artificial
Intelligence ?

@

To control the hardware in robots

To improve human communication with robots
To enable computers to solve problems without
being explicitly programmed
To create databases for storing information

)

113. The operator that enables the machine to understand
the meaning of words and sentences in human
language is known as :
(a) Interpretation
(b) Resolution

d yntax

&

114. Uncertainty can be represented by :
(a) Fuzzy logic “(b) Entropy

(c) Probability (@ All of the abovel

115. Robots consist of three':f:iiésic components : power
supply, control (memory) console, and

a) Mechanical units (arms)

(¢) Microcomputer
(d) Co-axial cable .

116. is considered a type of Artificial
Intelligence agent.
(a) Goal-based AI agent
(b) Simple Reflex AI agent
(c) Learning agent - .
117. Which type of maintenance is most effective ?
(a) Shutdown maintengﬁcie
(b) Breakdown maintepérjce

c) Preventive maintenance

(d) Corrective maintenance

118. The full form of IoT is :
(a) Index Organized Table
(b) Inter-Operability Test

c) Institute of Technology
d) Internet of Things '

AROM-01

111, Ma@%wﬁmwmwmm

112, 69 Ffgmar & wefm @i s swEwr g fag
ST R 2
(a) Usire T greaat = FEfa &

(b) ﬁaﬁz%mmwﬁ SRIeEAG]

g AT ST WY Y A 97T 7 wreal R FrRit
aref T e o waW S |, 39
AT |

(a) =T

113.
FETH

SR ST ST EHaT 8 |
(b) wd’r

114. ffEmar=r

(a) trﬁﬁr«ﬁt%ﬁ

Uiz 7 7 qen[ =9d 8 € « it g, Fem
(ﬁnﬁﬂ)aaa‘raa

115.

(c) WY ﬁﬁ
() %ma‘hﬁma
116. aﬁwmwwmqﬁzmw%l

(a) TEI-STETRE Al T
(b) Tiuer freisa Al G
(¢) wMmTSE

117. 9 TR 1 T@-t@E g5 THET R ?
(a) YRS W@-@E

T HF I FIR
(a) Wﬁmmﬁwm

118.




[19. As per the Factories Act 1948, no child who has
completed his/her shall be required or
allowed to work in any factory.

(a) Fourteenth year
(b) Tenth year

(c) Eighteenth year
(d) Sixteenth year

120. Which of the following is a type of network

topology ?
(a) Circular
(b) Square

(c) Linear

—(d) Star

Which technique helps estimate duratlon and
dependencies of tasks in a project ?

121.

(a) Brainstorming
(c) hecklist method
(d) SWOT analysis

122. The Lesson Learned meeting is usually conducted at
which phase of the project ?

(a) During budget planning
(b) During risk management planning

(¢) During the execution phase

(d) project completion

123. 66-6% risk is considered as :
(a) Moderate

o m]

(c) Verylow
(d) Low

LAROM-01

119, Sl (roar) e 1948 ¥ Sigaw, foreht off s
o o qu T e @ S0 ol oft
el 3 T S ST TR AT STgHT e & S |

(a) <egaray
(b) wEET
© aamafaﬁi; :
@ whaza?aélb;:

M
forfefea & & -

(@) T (@)
(b) (Y
() e (=)
(d) T (VW)

120. LT e SrdetTol o U R ?

HA-A THAS T  wrEt A et 3l
e =1 AT 3§ 7e8 H § 2

(a) ﬁwm‘é}mﬁm

© %&ﬁzﬁﬁ
(d) SWOT faegwr

121.

-I

@ U TSt i Yo AR T aRESHT % R =
AT S ST E ?

(a) mtﬁsmaaﬁ%?m
®) Eﬁﬁnwuﬁwm%fﬁm

122,

123. 66:6% SRGT AFATSIATS :
(a) =W




124,

125.

In the SI system of measmeme@ the

A is a physical representation of the

quantity under measurement whose true value is
known with great accuracy. :

(@) LeastCount

(b) Unit

is

; deﬁned as the basic unit of ieﬁrent, which is

126.

@@ Volt (V)
(© Wait(W) -

The units whose sizes cammot be chosen

independenﬂy are called :

" (@) Absolute Units

127.

128.

129.

130.

Magnetic ﬁeldonly

Auxiliary Fundamental Units

®

What is the coupling field used betiigen the electrical
and mechatucal systems in

' conversion

(¢) Electric field only
(d) None of the above

When work is done on a body by an external force,

remains same. T
(c) Kinetic energy increases. L0
. A Lo
(d) Potential energy increases. e
LAy
Which of the following *staticr¢haracteristic of
instruments is undesu‘able ?_
(a) Sensitivity  [f (b

(c) Accuracy

Tz

Rroduc ibility

The errors committed by.a person in measurements
are :

(a) Instrumental errors
(b) Enwmnmental €ITOTS

(d)domea:rors

AROM-01

UM % fWia gET o Tw Hifes
s & Rreer arefs g o wdieT ¥ A
SFTSTTE |

(a) TeHGHIh (ST )

(b) THE

©, f‘mﬁr

ﬂwa?rqqmi It &, T YR (He)

wﬁ@%mﬁqﬁﬁrﬁﬁ%mw%ﬁlﬁmﬁﬁ

124,

125.

(@) (V)

© ;W) - @ T
126, R STl 3 SRR Y A ST & TEF ST G,
' 3% R TS :

STl STCOT S o aﬂtmﬁmmﬁvﬁ%a‘iﬁ
sqzﬂwﬁmarﬁamrw aﬁarﬂr%‘?

127.

@ wﬁ*ﬁ%@_é?ﬁ
el TRt e o et amet s g vl o ST ®, Y

128.

(© wﬁﬁrﬁﬁaﬁf%l
@ Refersatagdis]

Frefefes & @ - vt H Sifve R
FEEATE ?

129,

() wmaT @
130. o el =afte gro R e AReT E




=

131. In which year Wwas

technology launched in India ? _
(a) 2023 (b) 20
(c) 2021 |

132, Which technology is used in Crypto cun‘ency ?
(a) Machine Learning (ML)

3D Printing

Artlﬁcml Intelhgence (AD)

(®)

133.

Lactlc acrd
Carbon monoxide
Nitrous oxide

= -
()
@
'If the Representative Fract:oﬁ (RF) is 0-25 and the

actual length of the object is 1-50 m, the length of the
drawing will be

() 375cm
(¢) 375cm

134.

The Nobel Prize in Chem]stry 2023 has been
awarded to :

(a) Victor Ambros
(b) Narges Mohammadi

135.

i
=

() P1 Agoshm ]

136. Celluloseisa polymer made from :
I.  Glucose
. Glycogen
.
V.

Select the correct answer from the options given
below : '

(a) OnlyI
(b) BothIll and IV
(c) B()ﬂ'l I and I

Fructose

Sucrose

5G telecommunications

AROM-01
131, ST 3 5G U SRR e § g TR ot 2
(a) 2023 _(b) 2024
(c) 2021 2022
132. Wmﬁmﬁhﬁﬁmmm%?
(@ AT ML) e
® 3

@ TEEdEES
134, Frewe Frer (RE) 0-25 & 30k g ot st e
1-50#12(%@%3&@__@5111
@ 3750
(© 3750y @ 375cm )
ol L
135. mﬁmﬁ?nzsmﬁawﬁﬁﬁmww
() T

136. W@ﬂgﬁﬁ%ﬁﬁm@rm%

Y
TS

&
A

A—’-i

I
V. Tl

<R R e Rt & v SR
(2) e I

() I 3R v aE




137. The deliberate manipulation of data, result or images
to support a particular hypothesis or claim is called :
(2) Salami Slicing
C0pynght .

. i '
Intellectual Property Rxghg_:&PRs) protect the use of

139,

138.

information and ideas that @fe by :
I  Social value E
II. Ethical value e -
M. Moral value L

- IV. . Commercial value A
Select the: correct answer ﬁ'om the options given

" below :

. (@ Monly

() LIMandIV
What is the term of copynght for an author of a

] book? .

(¢) Life of the author plu%() years

(d) 99 years A
140, Which is not the content of Provisional Spec1ﬁcat10n
ofa Patent ?

(d) Title of the mvenuo@
o)

141. India Meteorological D ent recognizes a year
as a “Drought Year” whencannual rainfall is deficient

by of normal or mﬁ’ie

(a) 15 percent
(c) 3 percent

142. What is the core value that emphasizes the

importance of developing and maintaining

competence in professional practlce ?
(b) Neghgence :

(a) Mediocrity

_ ~ .AROM-01

137. et oy aReremmr o1 s@ @1 onds =0 & g

sifeel, ufomd a1 SRR T SEEgER {0

(ST-FIE) T %l HET AT ©

© (a) G TR

(b) Hifirse

© 2l

@

138 ﬁ%m%mks)ﬁ@ﬁmaﬁtﬁaﬁaﬁw {
T, @A

L w R TE

I G

m. ReeEw g

VAR L e

i fow g fereret & wét ST g :
W l'IIv

(c) TEh & SHeehreT + 20 T8
(d . 99T

-~

140, PR § & S ¥z 3 s SRR 7
ﬁwwﬁ%?

e v R R s o 9 g % W i

141.
HI=IAT ST & 51 Snfies ol e o

ST FHEA S |
(@) 15"
(© 3R

T T T T Y S ST ST 5 & ehi
T S S ST TG o e WS ST 8 ?

(2) TmT=RT

. wWEEd

142,




E-I

E

143. The ratio of Young’s Modulus of lugh tensile steel to
that of mild steel is about : -
@ 13 ® 20

() 05

144, Lackoftoughness in a material implies :
(b) plasticity
(d) softening

O ductlty

The correct sequence of creep deformation in a creep
curve in order of their elongation is :

Transient, Accelerated, Steady state
Accelerated, Steady state, Transient

Steady state Tmns:ent, Accelerated

145.

(@
(®)

146. If the volume of a gas is reduced to half from its
_ ongmal vohlme the speclﬁc heat will :

:1‘ mcreasefom tunw
(c) bereduced to half

(d) be doubled
147. A cycle tyre bursts suddenly. What type of process is
this ?
(a) Isochoric Isobanc 7
(c) Isothermal 1@ ic

(d) Universe

1149 Cast iron has carbon content of

a) 2 4 ® 7-8%

“© 03-06% @ 065-1-5%

150. Polyvinyl Chloride (PVC)isa:
(a) Elastoplastic material
(b) Rigid plastic material

Thermosetting matenal

1@ Thermlastxc ma )

e

AROM-01
143, =9 O I T o S A9 i 93 s 3
T ST SUIT ST ST R :
@ 15 ®) 20
() 05. :
144, mmﬁm@mwm%
(@ S [ () o (e

ﬂmé

(c) d=ar o

d) wgeT

ﬁwﬂﬁvﬁwaﬁﬁﬁﬁwmﬁrwmm%m
Taftsas:

() efors, i, vt araeer
(b) iE, el R, gftres

145.

147. T WA ST TR I BE ST € | 9% fe TR

HrafEg ?
(a) wH-AARERS
() wwardt

2l
® 7-8%
(d 065-1-5%

150. diferierser witgs () &
() FETRIERE &
(b) IR wTRes Tare
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